=LPDB

3RPLHV]F]HQLH 5RINiDG  $% 7\J
7 nJ
YRQRVNRSID Gl KDE +\(D ODAJRUIDID $% . 6% =DJUIRTHQID TP\ViyZ GULQT 6]XID .DIDUINQD $%
7 wg/ %O %7/
% 7\ 7\G]
= YRQRVNRSID GU KDE +\(D ODiJRUIDID $% . 6% =DJIRTHQID JP\ViyZ GU
= 7 wg/ LQT 6]XID .DIDUJ\QD $%
0) %O %7/
L 7\G]
g YRQRVNRSID GU KDE +\(D ODiJRUIDID $%
n 6%/ %3/
7\G]
YRQRVNRSID Gl KDE +\(D ODiJRUIDID $%
6%/ %g/
nJ
= =DJURTHQID Z SUDF\ ] SIRPLHQIRZDQHP
IRQUIXIaF\P GU &KDPHWN. -RUGLDQ $%
%O %7/
o
D
7\6] 7\6]
=DJURTHQID TP\ViyZ GULQT 6]XID .DIDUINQD $% \ YRQRVNRSID GU KDE +\(D ODAJRUIDID $%
%O %7/ 7\G] 6%/ %a/
=DJURTHQID
7N Z SIDR\ | 7\6]
=DJURTHQLD Z SUDF\ ] SURPLHQIRZDQIHP IRQLIXIaF\P Gl ;”gg}:"F'?LR YRORVNRSID GU KDE +\ID ODiJRUIDID $%
0/ 0 0 {/ %6
_ &KDPHWN. -RUGIDQ $% %0 %7/ T 6%/ %G/
I P Gl
= N &KDPHUNL
a =DJURTHQLD Z SUDF\ ] _RIGIDO $
N SURPLHQIRZDQIHP %
T IRQLIXiaF\P GU
&KDPHWN. .RUGIDQ $% N
0 0
%O %7/ YRQRVNRSID GU KDE +\(D ODiJRUIDID $% . 6%
7 wg/
7N
YRQRVNRSID GU KDE +\(D ODiJRUIDID $% . 6%
7 wg/
~ ) 7\6]
I =DJURTHQID Z SUDF\ ]
o SIRPIHQIRZDQIHP
@ IRQLIXIGF\P GU &KDPHIVNL
-RUGLDQ $%
o
o
7N
!

YRQRVNRSID GU KDE +\ID ODAJRUIDID $%
6%5 %3/




